1	FC-R-2017-23							
2	CUMBERLAND FIRE DISTRICT							
3		Resolution						
4	RESOLUTION:	Authorizing the Finance Director to now C ? D. Bood Corvice						
5 6	RESOLUTION.	Authorizing the Finance Director to pay S & D Road Service, Inc. an amount not to exceed \$12,324.90.						
7		ποι απι απι στι στι στι στι στι στι στι στι στι στ						
8								
9	WHEREAS:	S & D Road Service, Inc. was contracted to make repairs to						
10 11		Engine 5.						
12	WHEREAS:	All repairs have been made with the approval of the Chief.						
13								
14 15	NOW, THEREFORE, BE IT RESOLVED BY THE CUMBERLAND FIRE DISTRICT AS FOLLOWS:							
16		i ollows.						
17	RESOLVED:	The Finance Director is authorized to pay S & D Road Service,						
18		Inc, an amount not to exceed \$12,324.90.						
19 20								
21	Voted on this 25 th day of July, 2017							
22								
23								
24 25		CyxthiaM. Wellette						
26		Cynthia Ouellette, Chairperson						
27								
28	PASSED:							
29	YAY: 5 NAY:							

S&D Road Service, Inc

9 Whipple Street Unit 4 Cumberland, RI. 02864

Phone: 401-312-0017 Fax: 401-312-2012 "We Take Personal Care of Our Customers"

INVOICE

14836

Org. Est. # 020868 RI Insp. Station 118-C Federal Inspection Printed: 06/19/2017

Odometer In: 68495

INVOICE

Cumberland Fire Dept. #836

3502 Mendon Rd

Cumberland, RI 02864 Home: 401-658-0544 2009 PIERCE -

Lic #: 754 - RI

Unit#:5

VIN #: AP1CV01H8 9A009868

Qty	Sale	Ext	Labor Description Ext
1.00	307.66	307.66	*** CLEANED, PRESSURE CHECKED CYLINDER HEAD, 2,720.00
			AND RESURFACE ***
1.00	304.27	304.27	DRAINED COOLANT AND REMOVED WIRING HARNESS, VALAVE COVER, EXHAUST MANIFOLD, TURBO. FOUND EGR COOLER
7.00	40.50	04.00	WAS BAD SO REMOVED EGR COOLER AND REPLACED
7.00	13.56	94.92	REMOVED VLAVE COVER,JACK
1.00	44 40	41 10	BRAKES,ROCKERS,INJECTORS,CAM, AND HEAD. CLEANED BLOCK AND INSTALLED HEAD WITH NEW GASKET,NEW HEAD
1.00	41.10	41.10	BOLTS. INSTALLED CAM, ROCKERS, AND HAD TO ADJUST
1.00	40.83	40 83	ROCKERS THEN LOOSEN THEM TO INSTALL JAKE BRAKE AND
1.00	₩3.00	43.03	THEN ADJUSTED JAKE BRAKE. INSTALLED VALVE COVER, EXHUAST MANIFOLD, TURBO, INTAKE, AND REST OF ENGINE.
6.00	3 13	18 78	FULED COOLANT CHANCED OU AND DAN ENCINE
0.00	00		HAD TO PEFORM 2 PARKED REGENS TO CLEAN DPF,ALSO
6.00	17.17	103.02	
			TEST AND RNS GOOD. NO LEAKS ON HEAD AT THIS TIME.
1.00	9.99	9.99	NEED TO SEE TRUCK ON 6/24/17 FOR QUICK CHECK UP.
			*** CLEANED, PRESSURE CHECKED CYLINDER HEAD, 710.00
1.00	61.35	61.35	AND RESURFACE ***
			Hazardous Materials 8.99
1.00	19.06	19.06	
1.00	21.17	21.17	
2.00	42.80	85.60	
1.00	23.18	23.18	
1.00	2,452.78	2,452.78	
6.00	744.82	4,468.92	
	00.40		
2.00	20.13	40.26	
4.00	22.02	22.02	
1.00	33.93	33.93	
3.00	11 22	33.00	
3.00	11.33	33.88	
2.00	16 51	33.02	
2.00	10.01	00.02	
1 00	26.31	26.31	
7.00	20.01	20.01	
2.00	4.69	9.38	
	1.00 1.00 7.00 1.00 1.00 6.00 1.00 1.00 1.00 2.00	1.00 307.66 1.00 304.27 7.00 13.56 1.00 41.18 1.00 49.83 6.00 3.13 6.00 17.17 1.00 9.99 1.00 61.35 1.00 19.06 1.00 21.17 2.00 42.80 1.00 23.18 1.00 2,452.78 6.00 744.82 2.00 20.13 1.00 33.93 3.00 11.33 2.00 16.51 1.00 26.31	1.00 307.66 307.66 1.00 304.27 304.27 7.00 13.56 94.92 1.00 41.18 41.18 1.00 49.83 49.83 6.00 3.13 18.78 6.00 17.17 103.02 1.00 9.99 9.99 1.00 61.35 61.35 1.00 19.06 19.06 1.00 21.17 21.17 2.00 42.80 85.60 1.00 23.18 23.18 1.00 2,452.78 2,452.78 6.00 744.82 4,468.92 2.00 20.13 40.26 1.00 33.93 33.93 3.00 11.33 33.99 2.00 16.51 33.02 1.00 26.31 26.31

S&D Road Service, Inc

9 Whipple Street Unit 4 Cumberland, RI. 02864

Phone: 401-312-0017 Fax: 401-312-2012 "We Take Personal Care of Our Customers"

INVOICE

14836

Org. Est. # 020868 RI Insp. Station 118-C Federal Inspection Printed: 06/19/2017

Odometer In: 68495

INVOICE

Cumberland Fire Dept. #836

3502 Mendon Rd

Cumberland, RI 02864 Home: 401-658-0544 2009 PIERCE -

Lic#: 754 - RI

Unit#:5

VIN #: AP1CV01H8 9A009868

Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
2" SURFACE DISC	3.00	2.86	8.58		
2" SURFACE DISC					
1 3/4" HOSE	1.00	14.27	14.27		
C40-175X36					
SLEEVE ASSY	10.00	22.28	222.80		
23522271	4.00	44.00	44.00		
HOSE BREATHER 23518315	1.00	11.20	11.20		
O/P SENSOR	1.00	80.25	80.25		
23527828					
14" CABLE TIES (PACKAGE)	1.00	13.26	13.26		
1450UV/C					
COOLANT SENSOR	1.00	24.87	24.87		
23527830					
TERMINALS	4.00	1.79	7.16		
TERMINALS					
T-BOLT CLAMP	1.00	6.00	6.00		
BR TB525					
3/8 CLAMP	2.00	1.71	3.42		
LAF J2671	4.00	4 5 4	4 = 4		
INC CLAMP <i>LAF J2670</i>	1.00	1.54	1.54		
Brake Clean	3.00	5.70	17.10		
05089	5.00	5.70	17.10		
15W40 QT	44.00	4.96	218.24		
5380					
1" LOOM CLAMP	3.00	3.21	9.63		
1" LOOM CLAMP					
Shop Supplies			8.99		

S&D Road Service, Inc.

9 Whipple Street Unit 4 Cumberland, RI. 02864

Phone: 401-312-0017 Fax: 401-312-2012 "We Take Personal Care of Our Customers"

INVOICE

14836

Org. Est. # 020868 RI Insp. Station 118-C Federal Inspection Printed: 06/19/2017

Odometer In: 68495

INVOICE

Cumberland Fire Dept.

3502 Mendon Rd

Cumberland, RI 02864 Home: 401-658-0544

#836

2009 PIERCE -

Lic#: 754 - RI

Unit #: 5

VIN#: AP1CV01H8 9A009868

Part Description / Number

Qty

Sale

Ext Labor Description Ext

Org. Estimate	13,055.81	Revisions	0.00	Current Estimate	13,055.81	Labor:	2,720.00
						Parts:	8,885.91
						Sublet:	710.00
						HazMat:	8.99
						SubTotal:	12,324.90
						Tax: No tax	622.01
						Total:	12,946.91
[Payments -]						Bal Due:	\$12,946.91

Vehicle Received: 6/19/2017

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair. WARNINGS If wheels are taken off, customer is responsible to retighten lug nuts after 100 miles. Return after 200 miles so we may check U-Bolt nuts.

Signature	Data	Timo
olghature	Date	Ime